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11 JIEtE A= 5,000 5,000 0
OB SSLAISEHABE Al DB A
5,000,000& = 1A 5,000
402 SI2F X201 M 71,500 0 71,500
01 QIZEXIEAIE 2 X 71,500 0 71,500
OEUAl CHAI YD ABIA S )] AX|
110,000 * 650CH 71,500
YWEHE Mg 22 112,670 89,285 23,385
201 et 9| 98,270 67,270 31,000
01 AF 22| H| 43,300 12,300 31,000
Oltlg Hygdds E28=2H
1,500,000& * 2= 3,000
ORSHYE L TA E524B
1,000& = 3004 300
OHSTIX 2 AMREE 2
100,000& * 128 1,200
OBHSEHIAX =E 3& =2yl
20,000& = 30H 600
OIEHES ARSEHECHLH Al A& MS-SQL 2014 2}0|
HdA 2L 11,000,000& = 1JH 11,000
OXNHEMNME Ha JX sgzZzz)d 89
20,000,000& * 14! 20,000
OlElg SE1OXAAN & gX 28 o]
0,000& = 108+ A « 128 7,200
02 2% H| 54,970 54,970 0
OUEIE S=DXAN &g RE2
2703 = 100,000= 27,000
QI E AlEIIEYE =42
200,000& * 12& 2,400
OIAXNAE2EI SXELH| 150,000& * 33 450
OHMEHLHSMSE X0 E =42
20 x 5004 * 12&€ 120
OHSTHAIANAE S22
400,000& * 123 4,800
Oltle dXgF2eAAL Ol
9,000,000& = 1Al 9,000
OLEIES ARSEECHHAIAEY fEHME =42
500,000& ~ 12€ 6,000
OEHE ARSEHEQCHHAIAE SXIE S
1,300,000 * 4270] 5,200
202 04| 5,400 5,400 0
01 2Ll 5,400 5,400 0
OHML AT 242 =0yl
20,000 x 3™ = 903 5,400




o o — o o o o o o (<o) (<o) o o
o o o o ™ [aV] (V] o o [ [
S |5 © | N ~ ~ |~ S |S |~
L._u (o)) ()] [ep] <t <t ™ @ <t <t
N Yo A A M <
KIo < 3| <
E
E=]
o [qN] Al o o o O © o o o
N~ o] (o)) (o)) o o [e)] [0))] o o o
(<o) [a\] N~ <t (<o) (<o) [aV] [aV] © o) —
s ||~ < = |= S|l |~ |~ <
LH 0| o™ 0 SIS | -
[e]
il
RS
o o o [e\] [eN] [aN] () o o <t [e ] o o o o o o o o o o o o o o o o o o o o o
o o o N~ Yo) (o)) < o o (<o) [e 0] o © o [00) Q o Al Al Al o o o N [eV] o o o o (@) o o
S| g|la|wlx TS & K O K & ®© d S|®l6n ®|S|S S| |—|le|m ® - © 3 |
» (e)] (o] O — N~ (@) Te) (e] — (ap) o) Y] (V) (aV] (aV] (aV] o [ep] (ep] O ) N~ — — (<o) o —
S || — = — re) < Q| @ |- — —
aor
<
=)
] Wor K @ o i W~ ol f B0 i
- N~ NN d o Y SO 3 - © @ = -
X *x *x *x x <t X *x x x x
D._—n x *x x x X x
30 g w3 T B wi 1 W 50 s g ¥
o o o o [aV] o o o o_ﬂ_ (aV] o o o o o
.Wun_ o o o o * (@) o o o o o (@) o (@)
! ; S SRS * 3 IR S g L ; ; P
o o ~ o ._._.o (@) () = o _ o o o o
. o o o = O O IQ Y] ._.1._ (V) o - J._ o Ou o) o o o
2 5 S XS~ gl o I 3 K15 2 D N e ow
mH_ (o] Te) E.___ Te) *x o IH_ OT f [Te) — O Iﬁ o _l_l o —
=< - N S o o0 D = Ko o =
o r & o F Wg 3k F Bl o - r
I+ = - nS iy « - 31
= w M M = O K T &r
5 R~ = ok = al al
— Ea) oF m =0 0k - A i)
= & _ K ] =
ol _ Ko R = ol a
o D Klo Ok pos H IS} = ar
o 0 & i i = ak w0
) “ |5 |3 o o 5T m W ) ERERES )
= |8 |= = B0 o T R = 8 |m W 30
s o || W o Ol Mr VW 5 G (T TR oM
Rl ﬁ ) | o R OR Mo U 31 = T |35 R =1 ol o A= Mo
0 ,_m_o ol | = O O M O O O s | O O 3ol | O Mo
: = = S S = Uls s 8
T ar | < « T |
o+ rd i




2AMd: DS
HH: CAX RENH =T
Cel A2 (ZEANNSALSEFA) (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
ORHMESHEI KX 2,000,000& = 14 2,000
OXEMAHI "X 2,000,000& = 14 2,000
202 O4dl 5,520 6,000 A 480
01 = LHA YI 5,520 6,000 A 480
OnSAE gR=2 ol
20,0003 * 6H = 463l 5,520
206 M= Hl 160,000 160,000 0
01 =8l 160,000 160,000 0
OXdETMz HelE £ 50,0008 * 2,0008 100,000
ONEEME Rl 2 40,000& * 1,500% 60,000
305 a2 S 2,000 2,000 0
01 thaf= & 2,000 2,000 0
OXNEE MRS &0 OE XHEE B4
2,000,000& = 14| 2,000
NS S AX L 2el 411,000 611,000 A200,000
201 Let24E] 106,000 306,000 200,000
02 =224l 106,000 306,000 200,000
OME, 32, EYS ®II2
8,000,000& = 12& 96,000
Ounstlss AdaA ==
10,000,000& * 14 10,000
401 Al B2 28I 305,000 305,000 0
01 A& HI 300,000 300,000 0
Ousdlss&xl 40,000,000& = 14 40,000
OL=FHMAHI A 7,000,000 » 50 A 35,000
OdEsS &X 10,000,000& * 1JH 2 10,000
OLEDuR S EXI & 4 3,000,000& * 500 £ 15,000
OUEIl FXE=* 150,000,000& * 14 150,000
Otls Asst Ex3 20,000,000& =« 14 20,000
O WsdsI| X3
2,000,000& * 50 £ 10,000
O8dE: S28 EX3A
2,000,000& * 1004 2 20,000
03 AlE SR THHI 5,000 5,000 0
OnSHSEEX AL
5,000,000& = 14 5,000
IS A WEssd 2= 1,509,529 1,468,715 40,814
AP 22 (LENLSAILELEZAH) 464,389 553,785 A 89,396
EYHFEX 22 464,389 553,785 A 89,396
101 @124 dl 36,043 51,721 A 15,678
04 JIZHHNZ22XNSE+ 36,043 18,290 17,753
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OFEEXNNY =Xt AAL2Y 36,043
=JlE= 51,5003 = 2% » 230 23,690
oxFF 51,5003 * 29 « 46 4,738
ocHIxY 51,5003 = 28 » 11¢ 1,133
o A2t =G 9,700& = 150AI2F * 29 2,910
c4EH 32,471,000& * 11% 3,572
201 Let24d] 200,046 189,464 10,582
01 At 22l 19,204 18,204 1,000
OFXH=3 I=Hl 300,000& = 159 4,500
ORolcis o AX2Y S4lH|
7,000& = 798 « 8 « 123 4,704
OunszHe 822 M2 5,000,000& = 14! 5,000
OFFXHs Mg DAL IME HE
5,000,000& = 14 5,000
02 =224l 180,842 171,260 9,582
O=Reoottiet Al &Hl KXl
170,000 » 38 A » 123 77,520
O&=Z4Hl |l 3,000,000& = 14 3,000
OSAIZYR T2 SI228(23)
500,000& = 12& 6,000
OXgRXL(E8s, =488 &)
300,000& * 6CH = 12 21,600
OXgd RFROI(=FEX, =M, dISHRL)
280,000& * 60H = 12& 20,160
OFFX fE UEHis €8 *E=
1,930& = 1,9508 » 12&8 45,162
Ooogoletd neg I ¢
4,000,000& = 14 4,000
ONEUFDNE 2F+g
70,000& * 4% = 53| 1,400
ORI XE HXH X= 200,0008 » 1004 2,000
202 oddl 30,900 30,900 0
01 = LH &4 1l 30,900 30,900 0
OSAZYSE & AtgH2e EF0
20,000& = 159 = 1033l 30,900
301 L2 A S 5,500 5,500 0
09 HALAHIE& S 4,000 4,000 0
OUSSAZ0F HALEH XI&
200,000& = 5H =« 43| 4,000
11IIEtEA S 1,500 1,500 0
OusSAtDEEsEH Ii=d X&
300,000& = 59H 1,500
05 a2 S 2,500 2,500 0
01 tH& 23S 2,500 2,500 0
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXt&gAel 3l&E a3 2,500,000& * 14 2,500
401 Al B2 28I 153,000 242,200 A 89,200
01 A& HI 153,000 242,200 A 89,200
O=Rolotnet X 40,000,000& * 20 4 80,000
Ofeoltks Jtflet dsHHd
10,000,000& * 5CH 50,000
ORolck= Jtilet AI&2= 500,000& * 3804 19,000
O=&8x=X EX& ZH  4,000,000& * 14 4,000
405 THabH S| 36,400 31,500 4,900
01 AL =S H SHI 36,400 31,500 4,900
Os¥g=Zxes sk 2
33,000,000& * 14 33,000
OSHFHANCS NS IS L AT 7¢
2,200,000& = 1CH 2,200
OgeA PA(SEX, SH4X, dIIHx)
300,000& * 4CH 1,200
NEEZ MAZF(ZEANRNSALSESA) 1,045,140 914,930 130,210
FIE A2 169,450 165,637 3,813
101 124l 87,450 87,637 A 187
04 JI2ZtHZ22HEE = 87,450 87,637 A187
OdUHSZEF=IE LAAG AR Y 87,450
cJIE= 51,500& = 59 230 59,225
SRS PNEE S, 51,5003 = 5% » 11¢ 2,833
ocxgag 51,5003 = 5% « 46 11,845
o Al2t2l=g  9,700& * 5% * 8AlZt » 10€ 3,880
c4HEE RE3 78,783,000& = 11% 8,667
oHAFEIE Fxz2 U=l
200,000& = 59H 1,000
201 LB-2E| 23,000 23,000 0
01 At 2t 2l 13,000 8,000 5,000
OZYEANFNELY 228 7Y
8,000,000& = 14 8,000
OFXE HE gtz 5,000,000& = 14 5,000
02 =224l 10,000 15,000 25,000
OFX 2HEH =KX & E=
10,000,000 * 14 10,000
5 a3 S 5,000 5,000 0
o1 HH&a=s 5,000 5,000 0
OZTYEN(NELY) Hyse 24
5,000,000& * 14 5,000
401 Al Bl 28I 50,000 50,000 0
01 A& HI 50,000 50,000 0
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Hu: 00EY DEBY 25
S NEEA HAHSM(LEALNEALEESH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZ2EFAHE A2 & AX
50,000,000 * 14! 50,000
405 XHA&HF S HI 4,000 0 4,000
01 XA 2 ZF S H| 4,000 0 4,000
OZ2LF=X& POA ¢ 2,000,000 = 2CH 4,000
SUT(HA - EHAl) &X 2 22 316,580 185,286 131,294
101 Q24| 20,580 9,286 11,294
04 JI2ZtHIZ2 2 NEE S 20,580 9,286 11,294
OsLa A dAAIEE 20,580
ocllga 51,500 * 4% x 60 12,360
oFE5 4G 51,500 * 4% » 10& 2,060
ocHIXIx=H 515,000€ * 4% = 2 4,120
o4l E 18,540,000 * 11% 2,040
201 et 6,000 6,000 0
01 AP 2t 2] H| 6,000 6,000 0
OAMUHA SEAIZLE AHH|(24)
6,000,000& = 1Al 6,000
401 AlEH|IZL £ 0HY| 290,000 170,000 120,000
01 AlEH| 290,000 170,000 120,000
OsLdE X B 90,000,000& * 14! 90,000
OSLEEX & “SAEdA
100,000,000 = 1A 100,000
O2018= A& A ZHIN HE 28 A
100,000,000 * 14! 100,000
WSECHHAIAE X & 2e 228,280 383,280 A 155,000
201 et | 22,780 22,780 0
01 AP 2t 2] H| 16,780 16,780 0
QUEMdTALEZLZIE AR 2
10,000,000 = 14! 10,000
OunEotd 22 HH 3,000,000& = 1A 3,000
OQUEMAIL ZHAX S 4!
7,0008 x 29 x 10 * 6 840
ORSYFSHMLANE Baay
70,0003 * 7H * 63| 2,940
02 2224 H| 6,000 6,000 0
OAE AR =& H| 500,000 = 12& 6,000
206 M = dl 18,500 23,500 A5,000
01 X2 bl 18,500 23,500 A5,000
OANEREE 2 30,000& = 50074 15,000
ORLED| EXT R 50,000& * 70JH 3,500
305 HHAZ2S 2,000 2,000 0
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Hu: 00EY DEBY 25
©el: nsEd HAS(LEANLSMHEELSA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Hia=s 2,000 2,000 0
OusSAES0l 28 22t 2AXIZH]|
2,000,000& = 14 2,000
401 A& HIZ 201 I 185,000 335,000 A 150,000
01 A& HI 185,000 335,000 A 150,000
ONERES AXZA 10,000,000 * 14! 10,000
OunsetdEX 8 &X| 50,000,000& = 14 50,000
OunsetEA4d KA+ 100,000,0008 * 14 100,000
Oolg==2F 4 (LerEd) 10,000,000 * 14! 10,000
Ozetd&S WHIA  1,500,000& = 1090 & 15,000
ol g1yl 330,830 180,727 150, 103
801 Gl Hl bl 330,830 180,727 150,103
01 Broil bl bl 330,830 180,727 150, 103
O eHail gl bl 330,830,000 = 14 330,830
HH2HZH (nsSD) 432,716 203,549 229,167
IHASIH(ZENLSASESLSIA) 432,716 203,549 229,167
ol 2AH| 432,716 203,549 229,167
101 @124 dl 432,716 203,549 229,167
03 RIAHAZ 2B+ 432,716 203,549 229,167
ORI AHA2Z2 R el 432,716
=lleg 175,936
HYB X 1,647,340 * 5% * 123 98,841
oL 1,606,140 * 4H » 123 77,095
ocdIZxd 8,705
Ao 2,176,140& = 100% * 4H 8,705
ol|Zg 50,357
- HEE X 1,647,340& * 400% * 5Y 32,947
AR 2,176,140& * 200% * 4H 17,410
o FEFIHI 17,595
HYEB XL
1,647,340% * 60% » 23| » 5Y 9,885
Xejols
1,606, 1403 = 60% » 23| * 4H 7,710
CcHIIRSFII=TE 18,978
CEHEEX 91,0153 = 5% = 20 9,102
oL 123,439 * 4H » 20 9,876
oA2A2RE 28,466
HIYE X
11,3773 = 5% = 20A12t = 128 13,653
AL
15,430& = 4F = 20A12t = 128 14,813
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